


9110307TR180A2

TR180

EXPLORER
140　  (64kg)

FORD 2016 -

Mounting Method by Vehicle Type

Manufacturer Model Type Year Maximum loading capacity

Preparation of Vehicle
Remove the caps that are located inside 
the roof rail. (8 pieces in total for right 
and left)
Please keep these removed caps in a 
safe place.

Place the base plate from the inner side of the rail to the location 
and securely tighten the bolts [M6x23] alternately. 

Cover the mounted base plate with the base cover, place 
the base unit included in the rack unit on it, and securely 
tighten the bolts [M6x15] alternately.
Confirm the direction of the base unit.

Note
Caps can be removed with the T27 torque 
wrench.

Note

How to mount the product

Base Plate

Bolt [M6x23mm]

Bolt [M6x15mm]

Hex Wrench [B=4]

Hex Wrench [B=4]

Base Unit

Tightening force: 4Nm (2.2ft-lb) 

Tightening force: 4Nm (2.2ft-lb) 

Base unit varies depending on the rack.

Arrow

Base Cover

Convex

OR

How to mount the base unit

- EN

( Load + Base rack 
+ Attachments )

EN

lbs



9110307TR180A3

TR180

KICKSNISSAN 2018 -
140      (64kg)

Mounting Method by Vehicle Type

Manufacturer Model Type Year Maximum loading capacity

Preparation of Vehicle
Remove the caps that are located inside 
the roof rail. (8 pieces in total for right 
and left)
Please keep these removed caps in a 
safe place.

Place the base plate from the inner side of the rail to the location 
and securely tighten the bolts [M6x18] alternately. 

Cover the mounted base plate with the base cover, place 
the base unit included in the rack unit on it, and securely 
tighten the bolts [M6x15] alternately.
Confirm the direction of the base unit.

Note

How to mount the product

Base Plate

Bolt [M6x18mm]

Bolt [M6x15mm]

Hex Wrench [B=4]

Hex Wrench [B=4]

Base Unit

Tightening force: 4Nm (2.2ft-lb) 

Tightening force: 4Nm (2.2ft-lb) 

Base unit varies depending on the rack.

Arrow

Base Cover

Convex

OR

How to mount the base unit

- EN

( Load + Base rack 
+ Attachments )

EN

lbs





9110307TR180A2

TR180

EXPLORER
140　  (64kg)

FORD 2016 -

Métedo de montaje por tipo de vehículo

Fabricante Modelo Tipo Capacidad máxima de carga

Préparation du véhicule
Retirez les capuchons qui se trouvent à 
l'intérieur du longeron.(8 au total, à droite 
et à gauche)
Conservez les capuchons retirés en lieu 
sûr.

Placez la plaque de base sur le côté intérieur de la barre et 
serrez fermement les boulons [M6x23] en alternance.

Couvrez la plaque de base montée avec le couvercle de 
base, placez y l'unité de base fournie avec le corps du 
porte-bagages  et serrez fermement en alternance les 
boulons [M6x15]. Vérifiez la direction de l'unité de base.

Remarque
Les capuchons peuvent être retirés à 
l'aide de la clé dynamométrique T27.

Remarque

Comment monter le produit

Plaque de base

Boulon [M6x23mm]

Boulon [M6x15mm]

Clé hexagonale [B=4]

Clé hexagonale [B=4]

Force de serrage : 4 Nm (2.2 pi-lb) 

Force de serrage : 4 Nm (2.2 pi-lb) 

L'unité de base varie en fonction du porte-bagages.

Flèche

Couvercle 
de base

Convexe

OU

Comment monter l'unité de base

Unité de base

- FR

( Charge + Le porteur de base
 + Remorque )

FR

Año

lbs



9110307TR180A3

TR180

KICKSNISSAN 2018 -
140      (64kg)

Métedo de montaje por tipo de vehículo

Fabricante Modelo Tipo Capacidad máxima de carga

Préparation du véhicule
Retirez les capuchons qui se trouvent à 
l'intérieur du longeron.(8 au total, à droite 
et à gauche)
Conservez les capuchons retirés en lieu 
sûr.

Placez la plaque de base sur le côté intérieur de la barre et 
serrez fermement les boulons [M6x18] en alternance.

Couvrez la plaque de base montée avec le couvercle de 
base, placez y l'unité de base fournie avec le corps du 
porte-bagages  et serrez fermement en alternance les 
boulons [M6x15]. Vérifiez la direction de l'unité de base.

Remarque

Comment monter le produit

Plaque de base

Boulon [M6x18mm]

Boulon [M6x15mm]

Clé hexagonale [B=4]

Clé hexagonale [B=4]

Force de serrage : 4 Nm (2.2 pi-lb) 

Force de serrage : 4 Nm (2.2 pi-lb) 

L'unité de base varie en fonction du porte-bagages.

Flèche

Couvercle 
de base

Convexe

OU

Comment monter l'unité de base

Unité de base

- FR

( Charge + Le porteur de base
 + Remorque )

FR

Año

lbs





9110307TR180A2

TR180

EXPLORER
140　  (64kg)

FORD 2016 -

Méthode de montage par type de véhicule

Fabricant Modèle Type Capacitè de charge maximum

Preparación del vehículo
Quite las tapas que se encuentran 
dentro del riel de techo. (8 partes en total 
para los lados derecho e izquierdo).
Coloque las tapas que quitó en un lugar 
seguro.

Coloque la placa base desde el lado interno del riel hasta su 
ubicación y apriete firmemente los pernos [M6 x 23] de forma 
alterna.

Cubra la placa base montada con la cubierta de la base, 
coloque sobre ella la unidad de base incluida en la 
unidad del bastidor y apriete firmemente los pernos 
[M6 x 15] de forma alterna.
Confirme la dirección de la unidad de base.

Nota
Las tapas pueden quitarse con la llave 
dinamométrica T27.

Nota

Cómo montar el producto

Placa base

Perno [M6x23mm]

Perno [M6x15mm]

Llave hexagonal [B=4]

Llave hexagonal [B=4]

Fuerza de apriete:  4 Nm(2.2 ft-lb) 

Fuerza de apriete: 4 Nm (2.2 ft-lb) 

La unidad de base varía en función del bastidor.Flecha

Cubierta de 
la base

Convexa

O

Cómo montar la unidad de base

Unidad de base

- ES

( Carga + Perchas de la base 
+ Dispositivo de montaje )

ES

Annèe

libras



9110307TR180A3

TR180

KICKSNISSAN 2018 -
140      (64kg)

Méthode de montage par type de véhicule

Fabricant Modèle Type Capacitè de charge maximum

Preparación del vehículo
Quite las tapas que se encuentran 
dentro del riel de techo. (8 partes en total 
para los lados derecho e izquierdo).
Coloque las tapas que quitó en un lugar 
seguro.

Coloque la placa base desde el lado interno del riel hasta su 
ubicación y apriete firmemente los pernos [M6x18] de forma 
alterna.

Cubra la placa base montada con la cubierta de la base, 
coloque sobre ella la unidad de base incluida en la 
unidad del bastidor y apriete firmemente los pernos 
[M6 x 15] de forma alterna.
Confirme la dirección de la unidad de base.

Nota

Cómo montar el producto

Placa base

Perno [M6x18mm]

Perno [M6x15mm]

Llave hexagonal [B=4]

Llave hexagonal [B=4]

Fuerza de apriete: 4 Nm (2.2 ft-lb)

Fuerza de apriete: 4 Nm (2.2 ft-lb) 

La unidad de base varía en función del bastidor.Flecha

Cubierta de 
la base

Convexa

O

Cómo montar la unidad de base

Unidad de base

- ES

( Carga + Perchas de la base 
+ Dispositivo de montaje )

ES

Annèe

libras


